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Bonnet Swallowfield 

Sizes: Small, 52/55 cm of hat size 

           Medium, 56/59 cm of hat size 

 

Material : 

1,2 skeins of British Wool Artesano, 

Circular needles 6mm 

Cable needle, sew needle, 

1 stitch marker. 

Points et abbreviations: 

Ribs 2/3 : 

Round : *knit2, purl3*, repeat from*to*. 

Repeat this round. 

Seed stitch : 

Round 1 : *knit1, purl1*, repeat from*to*. 

Round 2 : *purl1, knit1*, repeat from*to*. 

Repeat these two rounds the important, whatever is the number of stitches, is to oppose 
every stitch. 

Twist: 

The twist is made on 6 stitches: put 3 stitches on the cable needle placed in front of the 
work, knit the following 3 stitches, take back the 3 stitches of the auxiliary needle and knit 
them. 

k: knit 

p : purl 

K2tog : knit 2 together. 

K3tog : knit 3 together. 

  

http://lesaiguillesdecamille.com/category.php?id_category=62
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Work : 

Small Size : 

 

Cast on 65 stitches, put the stitch marker and make 10cm of ribs 2/3. 

Then, in the first round, increase 1, (=66 stitches) and knit as follows: 

Round 1: *k6, (p1, k1) x2, p1*, repeat from*to*. 

Round 2: *k7, (p1, k1) x2 *, repeat from*to*. 

Round 3: *k6, (p1, k1) x2, p1*, repeat from*to*. 

Round 4: * Twist, (k1, p1) x2, k1*, repeat from*to*. 

Repeat these 4 rounds till round 32 included ( 23 cms of total height), and then :  

Decrease 1 (Round 33): *k6, p1, K3tog, p1* repeat from*to*. (=54 stitches) 

Round 34: *k7, p1, k1*, repeat from*to*. 

Decrease 2 (Round 35): *K2togx3, p1,k1, p1*, repeat from*to*. (=36 stitches) 

Round 36 : *k4, p1, k1*, repeat from*to*. 

Decrease 3 (Round 37): * K3tog, p1, k1, p1*, repeat from*to*. (=24 stitches) 

Round 38 : *k2, p1, k1*, repeat from*to*. 

Decrease 4 (Round 39): *p1, K3tog*, repeat from*to*. (=12 stitches). 

Round 40: *k1, p1*, repeat from*to*. 

Cut the thread, fix the top of the hat with the sew needle, and fasten off. 
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Medium Size 

 

Cast on70 stitches, put the stitch marker and make 10cm of ribs 2/3. 

Then, in the first round, increase 2, (=72 stitches) and knit as follows: 

Round 1: *k6, (p1, k1) x3*, repeat from*to*. 

Round 2: *k6, (k1, p1) x3 *, repeat from*to*. 

Round 3: *k6, (p1, k1) x3*, repeat from*to*. 

Round 4: * Twist, (k1, p1) x3 *, repeat from*to*. 

Repeat these 4 rounds till round 34 included (24 cm of total height), and then:  

Decrease 1 (Round 35): *k6, p1, K3tog, p1, k1* repeat from*to*. (= 60 stitches) 

Round 36: *Twist, (k1, p1) x2*, repeat from*to*. 

Decrease 2 (Round 37): *K2togx3, (p1,k1) x2*, repeat from*to*. (=42 stitches) 

Round 38: *k3, (k1, p1) x2*, repeat from*to*. 

Decrease 3 (Round 39): * k3, p1, K3tog*, repeat from*to*. (=30 stitches) 

Round 40: *k4, p1*, repeat from*to*. 

Decrease 4 (Round 41): *K3tog, p1, k1*, repeat from*to*. (=18 stitches). 

Round 42: *k2,p1*, repeat from*to*. 

Cut the thread, fix the top of the hat with the sew needle, and fasten off. 

 

 

 

 

 


